

RELATIONSHIP AMONG BINOMIAL COEFFICIENTS, BERNOULLI NUMBERS AND STIRLING NUMBERS

DOHAN KIM AND EUN GU LEE

ABSTRACT. We give relationships among the binomial coefficients, the Bernoulli numbers and the Stirling numbers. These relations are derived from the translation formulae in the linear discrete systems in Shin-Naito [8].

1. INTRODUCTION

In [5, 8] the solutions of periodic inhomogeneous linear differential equations have been represented as the form of the sum of exponential-like functions and periodic functions. Its proof is related to the translation formulae named in [8] (refer to Lemma 3.1). In particular, the translation formulae were obtained by comparing two representations of solutions corresponding to the matrices B and A in the linear discrete systems

$$(1.1) \quad x_{n+1} = Bx_n + b, B = e^{\tau A}, \tau > 0.$$

In the present paper, as an application of the translation formulae, we will give relationships among the binomial coefficients, the Bernoulli numbers and the Stirling numbers (see [1], [4], [7]).

2. MAIN THEOREM

In order to state our results, we first introduce briefly some notations used in linear algebra and basic facts on the binomial theorem. For a complex $p \times p$ matrix H we denote by $\sigma(H)$ the set of all eigenvalues of H and by $G_H(\eta) = \mathcal{N}((H - \eta E)^{h_H(\eta)})$ the generalized eigenspace corresponding to $\eta \in \sigma(H)$, where E is the unit $p \times p$ matrix and $h_H(\eta)$ the geometric multiplicity of $\eta \in \sigma(H)$. $Q_\eta(H) : \mathbb{C}^p \rightarrow G_H(\eta)$ stands for the projection corresponding to the direct sum decomposition

$$\mathbb{C}^p = \bigoplus_{\eta \in \sigma(H)} G_H(\eta).$$

2010 *Mathematics Subject Classification.* Primary: 5A10, 11B65, 11B68, 11B73.

Key words and phrases. Binomial coefficient, Stirling number, Bernoulli number, translation formula.

Let $\mathbb{N} = \{1, 2, 3, \dots\}$, $\mathbb{N}_0 = \mathbb{N} \cup \{0\}$ and $\mathbb{Z} = \{0, \pm 1, \pm 2, \pm 3, \dots\}$. If $x \in \mathbb{R}$ and $k \in \mathbb{N}_0$, then we define the well-known factorial function $(x)_k$ as

$$(x)_k = \begin{cases} 1, & (k = 0) \\ x(x-1)(x-2)\cdots(x-k+1) & (k \in \mathbb{N}). \end{cases}$$

In particular, if $x = n$ is a positive integer, then

$$\frac{(n)_k}{k!} = \binom{n}{k} := \frac{n!}{k!(n-k)!}, \quad (n)_k = 0 \quad (k > n).$$

The Stirling numbers $\left[\begin{matrix} j \\ k \end{matrix} \right]$ of the first kind and the Stirling numbers $\left\{ \begin{matrix} k \\ j \end{matrix} \right\}$ of the second kind are introduced as the coefficients of the transform of bases of polynomials as follows:

$$(x)_j = \sum_{k=0}^j \left[\begin{matrix} j \\ k \end{matrix} \right] x^k, \quad j \in \mathbb{N}_0, \quad x^k = \sum_{j=0}^k \left\{ \begin{matrix} k \\ j \end{matrix} \right\} (x)_j, \quad k \in \mathbb{N}_0,$$

(cf.[7]). Note that the definition of the above Stirling number of the first kind is slightly different from the one in [2].

Let $B_0 = 1$, B_k , $k = 1, 2, \dots$, be Bernoulli's numbers (refer to [7]). Now, we are in a position to state the main theorem in the present paper.

Theorem 2.1. Let $k \geq j$, $k, j \in \mathbb{N}_0$.

(1)

$$\frac{1}{j+1} \left\{ \begin{matrix} k \\ j \end{matrix} \right\} = \sum_{i=j}^k \frac{1}{i+1} \binom{k}{i} \left\{ \begin{matrix} i+1 \\ j+1 \end{matrix} \right\} B_{k-i}.$$

(2)

$$\frac{1}{k+1} \left[\begin{matrix} k+1 \\ j+1 \end{matrix} \right] = \frac{1}{j+1} \sum_{i=j}^k \binom{i}{j} \left[\begin{matrix} k \\ i \end{matrix} \right] B_{i-j}.$$

(3)

$$\frac{1}{k+1} \left[\begin{matrix} k+1 \\ j+1 \end{matrix} \right] = \frac{1}{j+1} \sum_{i=j}^k \binom{k}{i} \left[\begin{matrix} i \\ j \end{matrix} \right] \frac{(-1)^{(k-i)}(k-i)!}{k-i+1}.$$

Combining (2) with (3) in Theorem 2.1, we easily obtain the following result.

Corollary 2.2.

$$\sum_{i=j}^k \binom{i}{j} \left[\begin{matrix} k \\ i \end{matrix} \right] B_{i-j} = \sum_{i=j}^k \binom{k}{i} \left[\begin{matrix} i \\ j \end{matrix} \right] \frac{(-1)^{(k-i)}(k-i)!}{k-i+1}.$$

3. THE PROOF OF THE MAIN THEOREM

First, we state the translation formulae given in [8]. Now, we assume that B is nonsingular, that is, $B = e^{\tau A}$, $\tau > 0$ for some a complex $p \times p$ matrix A . By the spectral mapping theorem it is easy to see that $\sigma(B) = e^{\tau\sigma(A)}$ and

$$\sigma_\mu(A) := \{ \lambda \in \sigma(A) \mid \mu = e^{\tau\lambda} \} \neq \emptyset$$

for $\mu \in \sigma(B)$. Set

$$A_{k,\lambda} = \frac{\tau^k}{k!} (A - \lambda E)^k \quad (\lambda \in \sigma(A)) \quad \text{and} \quad B_{[k,\mu]} = \frac{1}{k! \mu^k} (B - \mu E)^k \quad (\mu \in \sigma(B)).$$

The following matrix $Y_\lambda(A)$ has been introduced to study of the representations of solutions to the linear discrete system (1.1) (see [8]):

$$Y_\lambda(A) = \sum_{k=0}^{h_A(\lambda)-1} B_k A_{k,\lambda} \quad (\lambda \in i\omega\mathbb{Z} \cap \sigma(A)),$$

where $\omega = 2\pi/\tau$. Set $P_\lambda = Q_\lambda(A)$. Then $BP_\lambda = P_\lambda B$.

The following result is a part of the translation formulae in [8].

Lemma 3.1. [8] *Let $B = e^{\tau A}$, $\tau > 0$ and $\lambda \in \sigma_\mu(A)$.*

(1) *If $0 \leq k \leq h_B(\mu) - 1$, then*

$$(3.1) \quad B_{[k,\mu]} P_\lambda = \sum_{j=k}^{h_B(\mu)-1} \left\{ \begin{matrix} j \\ k \end{matrix} \right\} A_{j,\lambda} P_\lambda,$$

or equivalently, if $0 \leq j \leq h_B(\mu) - 1$, then

$$(3.2) \quad A_{j,\lambda} P_\lambda = \sum_{k=j}^{h_B(\mu)-1} \left[\begin{matrix} k \\ j \end{matrix} \right] B_{[k,\mu]} P_\lambda.$$

(2) *Let $\mu = 1$. If $0 \leq k \leq h_B(1) - 1$, then*

$$(3.3) \quad \frac{1}{k+1} B_{[k,1]} P_\lambda = \sum_{j=k}^{h_B(1)-1} \frac{1}{j+1} \left\{ \begin{matrix} j+1 \\ k+1 \end{matrix} \right\} A_{j,\lambda} Y_\lambda(A) P_\lambda,$$

or equivalently, if $0 \leq j \leq h_B(1) - 1$, then

$$(3.4) \quad \frac{1}{j+1} A_{j,\lambda} Y_\lambda(A) P_\lambda = \sum_{k=j}^{h_B(1)-1} \frac{1}{k+1} \left[\begin{matrix} k+1 \\ j+1 \end{matrix} \right] B_{[k,1]} P_\lambda.$$

The following result is also needed for the proof of main theorem.

Lemma 3.2. [8] *Let $\lambda \in i\omega\mathbb{Z} \cap \sigma(A)$. Then the following relations hold :*

(1)

$$A_{j,\lambda}Y_\lambda(A)P_\lambda = \sum_{i=j}^{h_B(1)-1} \binom{i}{j} B_{i-j} A_{i,\lambda} P_\lambda.$$

(2)

$$(B - E)Y_\lambda(A)P_\lambda = A_{1,\lambda}P_\lambda.$$

(3)

$$(3.5) \quad Y_\lambda(A)P_\lambda = \sum_{k=0}^{h_B(1)-1} \frac{(-1)^k}{k+1} (B - E)^k P_\lambda.$$

As an application of the translation formulae, we can give another proof of the well-known relation

$$(3.6) \quad \sum_{k=0}^{i-1} B_k \binom{i}{k} = 0, \quad i > 1.$$

Indeed, using (3.1) and Lemma 3.2, we have

$$\begin{aligned} A_{1,\lambda}P_\lambda &= (B - E)Y_\lambda(A)P_\lambda = \sum_{j=1}^{h_A(\lambda)-1} A_{j,\lambda}Y_\lambda(A)P_\lambda \\ &= \sum_{j=1}^{h_A(\lambda)-1} \sum_{i=j}^{h_A(\lambda)-1} B_{i-j} \binom{i}{j} A_{i,\lambda}P_\lambda \\ &= \sum_{i=1}^{h_A(\lambda)-1} \left(\sum_{j=1}^i B_{i-j} \binom{i}{i-j} \right) A_{i,\lambda}P_\lambda \\ &= \sum_{i=1}^{h_A(\lambda)-1} \left(\sum_{k=0}^{i-1} B_k \binom{i}{k} \right) A_{i,\lambda}P_\lambda. \end{aligned}$$

Comparing these coefficients, we can derive the equality (3.6).

The proof of Theorem 2.1 (1) Substituting (3.1) into the left side of the equality (3.3), we have

$$\frac{1}{j+1} \sum_{k=j}^{h_B(1)-1} \left\{ \begin{matrix} k \\ j \end{matrix} \right\} A_{k,\lambda}P_\lambda = \sum_{i=j}^{h_B(1)-1} \frac{1}{i+1} \left\{ \begin{matrix} i+1 \\ j+1 \end{matrix} \right\} A_{i,\lambda}Y_\lambda(A)P_\lambda.$$

On the other hand, it follows from Lemma 3.2 that

$$\begin{aligned}
 & \sum_{i=j}^{h_B(1)-1} \frac{1}{i+1} \left\{ \begin{matrix} i+1 \\ j+1 \end{matrix} \right\} A_{i,\lambda} Y_\lambda(A) P_\lambda \\
 &= \sum_{i=0}^{h_B(1)-1} \frac{1}{i+1} \left\{ \begin{matrix} i+1 \\ j+1 \end{matrix} \right\} \sum_{k=i}^{h_B(1)-1} \binom{k}{i} B_{k-i} A_{k,\lambda} P_\lambda \\
 &= \sum_{k=0}^{h_B(1)-1} \left(\sum_{i=0}^k \frac{1}{i+1} \left\{ \begin{matrix} i+1 \\ j+1 \end{matrix} \right\} \binom{k}{i} B_{k-i} \right) A_{k,\lambda} P_\lambda \\
 &= \sum_{k=j}^{h_B(1)-1} \left(\sum_{i=j}^k \frac{1}{i+1} \binom{k}{i} \left\{ \begin{matrix} i+1 \\ j+1 \end{matrix} \right\} B_{k-i} \right) A_{k,\lambda} P_\lambda.
 \end{aligned}$$

Therefore, we obtain

$$\begin{aligned}
 & \frac{1}{j+1} \sum_{k=j}^{h_B(1)-1} \left\{ \begin{matrix} k \\ j \end{matrix} \right\} A_{k,\lambda} P_\lambda \\
 &= \sum_{k=j}^{h_B(1)-1} \left(\sum_{i=j}^k \frac{1}{i+1} \binom{k}{i} \left\{ \begin{matrix} i+1 \\ j+1 \end{matrix} \right\} B_{k-i} \right) A_{k,\lambda} P_\lambda,
 \end{aligned}$$

from which the coefficients in both sides coincide with each other.

(2) It follows from (3.4) and Lemma 3.2 that

$$\begin{aligned}
 & \sum_{k=j}^{h_B(1)-1} \left[\begin{matrix} k+1 \\ j+1 \end{matrix} \right] \frac{1}{k+1} B_{[k,1]} P_\lambda \\
 &= \frac{1}{j+1} A_{j,\lambda} Y_\lambda(A) P_\lambda = \frac{1}{j+1} \sum_{i=j}^{h_B(1)-1} \binom{i}{j} B_{i-j} A_{i,\lambda} P_\lambda.
 \end{aligned}$$

Using (3.1) we have

$$\begin{aligned}
 \sum_{i=j}^{h_B(1)-1} \binom{i}{j} B_{i-j} A_{i,\lambda} P_\lambda &= \sum_{i=j}^{h_B(1)-1} \binom{i}{j} B_{i-j} \sum_{k=i}^{h_B(1)-1} \left[\begin{matrix} k \\ i \end{matrix} \right] B_{[k,1]} P_\lambda \\
 &= \sum_{k=0}^{h_B(1)-1} \left(\sum_{i=0}^k \binom{i}{j} \left[\begin{matrix} k \\ i \end{matrix} \right] B_{i-j} \right) B_{[k,1]} P_\lambda \\
 &= \sum_{k=j}^{h_B(1)-1} \left(\sum_{i=j}^k \binom{i}{j} \left[\begin{matrix} k \\ i \end{matrix} \right] B_{i-j} \right) B_{[k,1]} P_\lambda.
 \end{aligned}$$

Therefore,

$$\begin{aligned} & \sum_{k=j}^{h_B(1)-1} \frac{1}{k+1} \begin{bmatrix} k+1 \\ j+1 \end{bmatrix} B_{\{k,1\}} P_\lambda \\ &= \frac{1}{j+1} \sum_{k=j}^{h_B(1)-1} \left(\sum_{i=j}^k \binom{i}{j} \begin{bmatrix} k \\ i \end{bmatrix} B_{i-j} \right) B_{\{k,1\}} P_\lambda. \end{aligned}$$

Comparing these coefficients, we obtain the assertion (2).

(3) By (3.2) and (3.5) we have that for $\lambda \in i\omega\mathbb{Z} \cap \sigma(A)$,

$$\begin{aligned} A_{j,\lambda} Y_\lambda(A) P_\lambda &= \left(\sum_{i=j}^{h_B(1)-1} \begin{bmatrix} i \\ j \end{bmatrix} B_{\{i,1\}} \right) \left(\sum_{m=0}^{h_B(1)-1} \frac{(-1)^m m!}{m+1} B_{\{m,1\}} \right) P_\lambda \\ &= \sum_{i=j}^{h_B(1)-1} \sum_{m=0}^{h_B(1)-1} \begin{bmatrix} i \\ j \end{bmatrix} \binom{m+i}{i} \frac{(-1)^m m!}{m+1} B_{\{m+i,1\}} P_\lambda \\ &= \sum_{i=j}^{h_B(1)-1} \sum_{k=i}^{h_B(1)-1} \begin{bmatrix} i \\ j \end{bmatrix} \binom{k}{i} \frac{(-1)^{(k-i)} (k-i)!}{k-i+1} B_{\{k,1\}} P_\lambda \\ &= \sum_{k=j}^{h_B(1)-1} \sum_{i=j}^k \binom{k}{i} \begin{bmatrix} i \\ j \end{bmatrix} \frac{(-1)^{(k-i)} (k-i)!}{k-i+1} B_{\{k,1\}} P_\lambda. \end{aligned}$$

Thus, together with (3.4) we obtain

$$\begin{aligned} & \sum_{k=j}^{h_B(1)-1} \frac{1}{k+1} \begin{bmatrix} k+1 \\ j+1 \end{bmatrix} B_{\{k,1\}} P_\lambda \\ &= \sum_{k=j}^{h_B(1)-1} \frac{1}{j+1} \sum_{i=j}^k \binom{k}{i} \begin{bmatrix} i \\ j \end{bmatrix} \frac{(-1)^{(k-i)} (k-i)!}{k-i+1} B_{\{k,1\}} P_\lambda. \end{aligned}$$

Comparing these coefficients, we obtain the assertion (3). This completes the proof. \square

Acknowledgements. The first author was supported by Basic Science Research Program through the National Foundation of Korea(NRF) funded by the Ministry of Education Science and Technology (MEST) (no. 2012003264).

REFERENCES

- [1] M. Aigner, *A Course in Enumeration, Graduate Texts in Mathematics*. 238, Springer, New York, Berlin, 2007.
- [2] T.Arakawa, T.Ibukiyama and M.Kaneko, *Bernoulli Numbers and Zeta Functions*, with appendix by Don Zagier, Springer Japan, 2014

- [3] F. FÁA DI BRUNO, Note sur une nouvelle formule de calcul différentiel, *Quart. J. Pure Appl. Math.*, **1** (1857), 359–360.
- [4] R. Graham, D. Knuth and O. Patashnik, *Concrete Mathematics* (A foundation for computer science), Addison-Wesley, Reading, Massachusetts, 1989.
- [5] J. Kato, T. Naito and J.S. Shin, A characterization of solutions in linear differential equations with periodic forcing functions, *Journal of Difference Equ. Appl.*, **11** (2005), no. 1, 1–19.
- [6] S.G. Krantz and H.R. Parks, *A Primer of Real Analytic Functions*, Second Edition, Birkhauser, Boston, Basel, Berlin, 2002.
- [7] K.S. Miller, *An Introduction to the Calculus of Finite Differences and Difference Equations*, Dover Publications, New York, 1966.
- [8] J.S. Shin and T. Naito, Representations of solutions, translation formulae and asymptotic behavior in discrete linear systems and periodic continuous linear systems, *Hiroshima Math. J.* **44** (2014), 75-126.

DEPARTMENT OF MATHEMATICS, SEOUL NATIONAL UNIVERSITY, GWANAK-RO 1, GWANAK-GU,
SEOUL 151-747, KOREA
E-mail address: dhkim@snu.ac.kr

DEPARTMENT OF E-BUSINESS, DONGYANG MIRAE UNIVERSITY, GYEONGIN-RO 445, GURO-GU,
SEOUL 152-714, KOREA
E-mail address: eglee@dongyang.ac.kr